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FA oY
I ofgEy Jlg 2=
ol o3 K= (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
O¢iotoi e ordate| AlIE2 &X1 X2 42,600
ES 42,600
ofrate |4 11,682,550 12,525,250 A842,700
= 9,043,000
=S 2,639,550
ottt Dlgt= 279,250 270,250 9,000
201 er23 | 4,250 54,250 250,000
01 At2teltl 4,250 54,250 /50,000
Odfefalatd 54 & AR 29 4,250
308 AXIHSOIA 275,000 216,000 59,000
01 HAHHBSEEXS 225,000 216,000 9,000
Odli&==4tAHR MHe |59 A& 210,000
OocHH0l2 ZE JHE| 15,000
18 SIS0t 34 A A A 50,000 0 50,000
Odfefalatd 5o & et JHES 50,000
oHHIOI2 AtA3E XIRHE 2HE 5,107,400 5,885,000 AT77,600
= 4,200,000
[ 907,400
403 MR HHMSAHE01H 5,107,400 5,870,000 AT762,600
= 4,200,000
= 907,400
01 XM= 22X 5,107,400 5,870,000 AT62,600
Odibole &Het XEHE HE 5,107,400
= 4,200,000
= 907,400
SHXI Jlgts= 3,997,500 6,370,000 A2,372,500
= 3,075,000
== 922,500
403 MR HHMSAH=01H 3,997,500 6,370,000 A2,372,500
= 3,075,000
< 922,500
01 HXIHHA 22 3,997,500 6,370,000 A2,372,500
Ol XIS AIEHEH HE 3,997,500
= 3,075,000
= 922,500
SHHIOI2 CISXIEEH A 2,298,400 0 2,298,400
= 1,768,000
=S 530,400
403 X SHHMSAH=01H 2,298,400 0 2,298,400
= 1,768,000
== 530,400
01 AXISHHA 22 % 2,298,400 0 2,298,400




FA oY
I ofgEy Jlg 2=
el oy =4 (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
Odlil&bt0l2 QISX2MEH HE 2,298,400
= 1,768,000
== 530,400
oHfiIN D18t 2= 8,393,500 4,830,300 3,563,200
= 2,279,000
ES 100,000
== 6,014,500
== td2e| 440,000 569,000 A119,000
308 AXIMSOIA 350,000 390,000 240,000
01 XN BSELES 350,000 390,000 40,000
Odi==& otd2te| X3 350,000
403 AXIEHHSAH=Z01d 90,000 169,000 A79,000
01 MHXIHHA 22X 90,000 169,000 A79,000
Ot ==& otd™zte| X (X2) 90,000
LU MAE=NSIZ ) (MEAY) 91,000 91,000
308 XXM SOIA 91,000 91,000
01 AXEHB 2 LS 91,000 91,000
O5d LA MAZ= HERA L MES
o 91,000
SHLA A=W RIT=T)2H 100,000 100,000 0
ES 100,000
201 el 100,000 100,000 0
ES 100,000
03 A= 100,000 100,000 0
O8Y Fad djgtdus =24 100,000
e 100,000
H-=8 SHEXAAE 64,000 80,000 16,000
= 64,000
308 XXM SOIA 64,000 80,000 16,000
= 64,000
01 HAHHBSEXRS 64,000 80,000 16,000
Oosd l+==8 243t X2 64,000
= 64,000
== LdAISSA 25,500 0 25,500
= 15,000
= 10,500
308 AFAIEHMSOIE 25,500 0 25,500
= 15,000
= 10,500
01 AXH B2 LS 25,500 0 25,500
Odfl==% 243t XA (LASBAH 25,500
= 15,000
== 10,500

w
|




FA oY
M gieEAl JlY 2
ol BRI DlE PE (Shol: % 2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
N2 TR AILX A (HEAY) 4,105,000 2,870,000 1,235,000
403 X SHHMSAH=01H 4,105,000 2,870,000 1,235,000
01 AXISHHA =22 & 4,105,000 2,870,000 1,235,000
O3 3 ==& =4 400,000
Odfigel=n & AJ0I93 & 465,000
OelZ NE SSAlE &4 450,000
OAJI0IEHY BHICHE Y & &4 600,000
Otlus S5 dAZ cl2ed 300,000
O=&ldIL=E2 =4 750,000
OSHsd Z2AME =4 540,000
Olds+==8 228 Z2AE i 600,000
ofef I - 2& Jlgtxd 3,568,000 1,065,300 2,502,700
= 2,200,000
== 1,368,000
308 AXIMSOIA 1,923,000 663,200 1,259,800
= 1,200,000
[ 723,000
01 HXHHBAEES 1,923,000 663,200 1,259,800
O=HREN Nzl Ity 9,000
o8 =X o 2FZ=278 29 9,000
O2024E8 HMI172] M=oHSAL=HHE 1,000,000
= 700,000
=S 300,000
OzEH o2 2lss D2+ & A
of &ot =8 A7 N3 650,000
= 500,000
= 150,000
Otietet A= X4k 2435t XY 105,000
O2024 J70 OtAIHE 2EE=HEW= 150,000
403 AXIEHMSAH=0lH 1,645,000 0 1,645,000
= 1,000,000
[ 645,000
01 MHXIHH A =222 1,645,000 0 1,645,000
OstgZofi+=8 I2x4(ZUHA) 45,000
O3 LE S MAE &4 1,600,000
= 1,000,000
= 600,000
ofatd 2& 5,469,025 5,309,431 159,594
= 1,303,000
Il 722,000
= 3,444,025
oHef M D] HatAte X 1,954,500 1,954,500 0
= 1,303,000




FA oY
I ofgEy Jlg 2=
cHell oneEE 2= (St &)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
< 651,500
308 AtXIEHMSOIE 1,954,500 1,954,500 0
=) 1,303,000
= 651,500
01 AXEH B EES 1,954,500 1,954,500 0
OdiefMe ] Zatated X2 1,679,500
[ 1,053,000
= 526,500
O LMY I At K& 375,000
= 250,000
< 125,000
sty Es2el K& 1,622,000 736,800 885,200
201 fer= 3| 19,000 16,200 2,800
03 &A=& 19,000 16,200 2,800
O=HMgietdstold & a2t 23 19,000
308 AFAIEHMSOIE 100,500 645,600 AB45,100
01 RSN B EES 100,500 645,600 545,100
O Z&F =0l 2 60,000
OEAMXI oM eD] 22| X 25,500
OXNE oflgetd ot X3 15,000
403 AXIEHHSA=01d 1,502,500 75,000 1,427,500
01 MHXIHHA 22X 1,502,500 75,000 1,427,500
Oolf f e 2t B IH A 30,000
O=gel =& ItSEHA QU= Xl X2 1,472,500
SREHA HelAFY (HEAY) 20,800 20,800 0
308 XXM SOl 20,800 20,800
01 XN B2 LS 20,800 20,800
OgxHe Hel 20,800
Fefollor HolE S 938,600 0 938,600
Jl 722,000
= 216,600
308 AtXIEMSOIE 938,600 0 938,600
Jl 722,000
= 216,600
01 XN EES 938,600 0 938,600
OFefaiet Hol=2 US 938,600
Jl 722,000
=S 216,600
FEIM==IIE2 28X 280,000 280,000
308 AXIMSOIA 280,000 280,000
07 HXHH2LRES 280,000 280,000
ORFlLcH==II1E2 g2 N3 280,000




FA oY
I ofgEy Jlg 2=
cHell oneEE 2= (St &)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
SHES2EH 29 653,125 560,424 102,701
201 er23 | 575,000 527,204 47,796
01 At2teltl 60,000 40,374 19,626
Ost3dstd 29 60,000
02 S3=gl 515,000 486,830 28,170
Os&k= € MA 110,000
odsr & g R 2 405,000
202 04| 28,125 23,220 4,905
01 SLHoIH 10,800 4,320 6,480
Odfi &2 gD| 282 X2 10,800
02 A0 17,325 18,900 A1,575
Odig )| 2erde =8 17,325
401 AIEHIX 20 50,000 50,000
01 AlZ2H| 50,000 50,000
Ostddatzerd dol+cltl 50,000
HAMEN= T 13,687,929 19,506,648 A5,818,719
= 11,186,000
S 2,501,929
HEESAAZL(AZE 4 254,072 433,644 179,572
= 124,000
s 130,072
308 AHXIEMSOIE 254,072 433,644 179,572
= 124,000
[ 130,072
01 HXHHBAEES 164,072 433,644 N269,572
OtlgEa 71 2 150,572
= 124,000
= 26,572
OJI28e feE2S 7 2elArdd X 13,500
18 SIS0t 4 A A A 90,000 0 90,000
Odie=2s3 Jigt Nded 2= 90,000
HeESTAZR (A2 R2) 2,279,429 4,627,644 N2,348,215
= 1,876,000
< 403,429
403 AXIEHMSA=01d 2,279,429 4,627,644 N2,348,215
= 1,876,000
= 403,429
01 XIS A=E £ 2,279,429 4,627,644 N2,348,215
OoflgE2s S 2el 104,429
= 86,000
= 18,429
ONEUE 22 L2 X4 2,175,000




FA oY
M gieEAl JlY 2
el oS ME=a (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
= 1,790,000
=S 385,000
HEMEH =R 6,333,714 7,334,500 A1,000,786
= 5,216,000
< 1,117,714
403 MR HSAHE01H 6,333,714 7,334,500 21,000,786
= 5,216,000
= 1,117,714
01 HXIHHA =22 xR 6,333,714 7,334,500 A1,000,786
OSE HEUEHH |3 A 1,667,500
= 1,365,000
= 292,500
O=E HZUE =] ALY 2,440,714
= 2,010,000
== 430,714
Odel HEUHAH SH A 854,857
= 704,000
= 150,857
O34t HEMEH SH At 1,380,643
= 1,137,000
=S 243,643
HEAMY SAAS 4,820,714 7,110,860 A2,290,146
= 3,970,000
< 850,714
403 MR HHMSAHE01H 4,820,714 7,110,860 N2,290,146
= 3,970,000
= 850,714
01 AXISHA=2E2 X 4,820,714 7,110,860 A2,290,146
OULAY S 4,820,714
= 3,970,000
= 850,714
AY2AZHI(oHLFH =) 137,944 131,202 6,742
Jl22HI (A 2t 137,944 131,202 6,742
Jl2A| (ol & = 1t) 137,944 131,202 6,742
201 ger=3| 63,000 61,200 1,800
01 AtR2tc|HI 63,000 61,200 1,800
Oy gF=X 63,000
202 04| 59,500 59,364 136
01 =LHO LI 59,500 59,364 136
Odfgz R 59,500
203 HR=H] 15,444 10,638 4,806
01 D[22 HRFa| 10,800 5,940 4,860
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